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No. (= ISR B |RESEGE|RE| mE | BHES] K £ Fi5| BE
1 60m M25 7.3% 1[-23% |5ZDES 1528|3787 #KF 27
2 60m M40 7.5% 1[-2.3% [HE 3425|Ft MEA 44
3 60m M40 7.7% 2| -2.3% | 5 1% 1268|E# M2 42
4 60m M45 7.3% 1[-03% | B 454|hiE FE— 47
5 60m M45 7.6% 2| -0.3% 1B E 965|:5H E# 46
6 60m M45 7.8% 3| -0.3% | K% 484| L& 2 47
7 60m M45 7.8% 4| -0.3% |FEE 9009 |HEAR ZEh 47
8 60m M45 7.9% 5| -0.3% [15E 826| AKX & 46
9 60m M45 8.2% 6] -0.3% [REF LI T 46
10 60m M45 8.7 7| -0.3% B E 1385|JI[IE &5 45
11 60m M45 13.5% 8| -0.3% | 2058 |F#)Il HE— 45
12 60m M50 7.7% 1[-0.0% |IRE 3774[;EK EE 51
13 60m M50 7.8% 2| -1.6% |FRRE 2253| &M BUE 54
14 60m M50 7.8% 3| -0.0% | 5 1% 126| EE BB 50
15 60m M50 8.0% 4| -0.0% |{F BB 715|KH & 52
16 60m M55 7.7% 1] -0.2% | R¥ 623|HP = 55
17 60m M55 7.8% 2| -0.2% | #Z 1| 1965|ik  [& 55
18 60m M55 7.9% 3| -0.2% | 5 EZFDES M0|2FH B 59
19 60m M55 7.9% 4| -0.2¢ |FEm 3112|IUF #F 56
20 60m M55 8.2% 5[ -0.2% | 5ZED&ES 405 AR IE RER 58
21 60m M55 8.4% 6| —0.2% [TEAM-K 639|HH FA 55
22 60m M60 8.4% 1| —20%|15F 2502 B BBX 64
23 60m M60 8.5% 2| —2.0x |[#R 263|4H f#A 64
24 60m M60 8.5% 3| —2.0% | 515 710[#42 B 62
25 60m M60 8.9% 4| -2.0x |fEFE 1222|/NBE R IEBA 63
26 60m M60 9.1% 5| 2.0 |Em 1264()I|% REZ 60
27 60m M60 12.1% 6 —2.0% | 5EDES 338[/hMER 15 60
28 60m M65 8.3% 1| -0.9% | KR 10105 BEX 69
29 60m M65 8.9% 2| -0.9% |[EFE 1257(/h#k — B 69
30 60m M70 8.5% 1] -0.9% [E B} 763| KB RE 72
31 60m M70 8.8% 2| -0.9% |5 ZDES 3BH/K K= 70
32 60m M75 9.2% 1] -1.6% [EE#kK 1023 K4 #{= 77
33 60m M75 10.2% 2| 16 [1BE 1025|E 9&9& 78
34 60m M80 11.0% 1] -1.6% [E B 845|HiF —% 81
35 60m W30 8.1% 1| -0.0% | =5 1496 FILUBAR & 34
36 60m W40 8.7% 1] -0.0% [2)IIAC 1306|355 3FF 43
37 60m W40 9.1% 2| -0.0% | Z [ 1478[ILE E& 43
38 60m W45 8.3% 1| -1.6% [#HAK 493 Ft Tz 45
39 60m W45 8.8% 2| -1.6x% R4 1082|KJIl &EF 48
40 60m W50 9.2% 11-1.6x |15 FE 414)5  B& 53
41 60m W55 9.1% 1| -1.6% [#Z)0] 1876|218 EF 58
42 60m W60 9.7 1| -0.7* | =& 1031 |FAEEREF 61
43 60m W60 9.8% 2| -0.7x | = 525|#iA HFF 60
44 60m W60 10.1% 3[-0.7x = 414[HFOEKF| 63
45| 100m |M24 15.9% 1| -0.7+ =/ 1486 | 5B E R E 20
46 | 100m | M25 11.3% 1| -0.7% | 5Z=DES 1528|5187 #X5F 27
47| 100m | M25 11.8% 2| -0.7x | K H 1461(2 1EXER 29
48 | 100m [ M30 11.6% 11-0.7% | &= 1290(f2H HEA 32
49| 100m | M30 13.6% 2| -0.7% E% 1543|FAH 32
50| 100m | M35 11.6% 1| -1.4% | S5 1233| B # 36
51| 100m | M35 12.5% 2| -1.4x |55 1448|h L & 38
52| 100m | M40 11.7% 1| -1.4%|xm@ 1283;T/R &= 43
53| 100m | M40 12.3% 2| -1.4% [ =% 1268|=H #2 42
54 | 100m | M45 11.9% 1] -0.8% | E B 454|hIE FE— 47
55| 100m | M45 12.5% 2| 0.8 |[FHE 209|HE A ZEH 47
56 | 100m | M45 12.7% 3[-06%|15E 826| AKX [E 46
57| 100m | M45 13.3% 4| -0.8x | EEF 823|/NET A E 44 49
58 | 100m | M45 13.4% 5[ 0.6 | K Ef 779"y & 46
50| 100m | M45 13.9% 6| -0.6% |15 E 1385(JI[1E &5 45
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60| 100m | M50 12.3% 1|15 [FEZE 2253| &5 BUE 54
61| 100m | M50 12.4% 2| -1.5% |BRE 3774 EE 51
62| 100m | M50 12.5% 3| -15% 1B E 632|M5 FE 52
63| 100m | M50 12.5% 4| -1.5% | E% 826| Ll = 53
64| 100m | M50 12.9% 5| -1.5% | E%F 691|155 &= 51
65| 100m | M50 13.3% 6| —1.5% [{REIH 715|KH & 45
66 | 100m | M50 13.3% 7] -1.5% [#FKR 622|554t i 50
67| 100m | M55 12 5% 11 -0.8% [EF? 623|HP = 55
68| 100m | M55 12.8% 2| -0.8% [SEDES 440|257 &) 59
69 | 100m | M55 13.3% 3| -0.8% [SEDES 405| AR IERER 58
70| 100m | M55 13.3% 4] -0.8% |TEAM-K 639/ FA 55
71| 100m | M60 13.3% 1[-1.2%[EHE 2338| K8 FIX 63
72| 100m | M60 14.0% 2| -1.2% |#R4E 263|H f#A 64
73| 100m | M60 14.0% 3|-1.2%x 1B E 250|128 BBX 64
74 | 100m | M60 14.5% 4| -1.2% |EE#K 1222|/NE 4R 1E BA 63
75| 100m | M65 13.5% 1[-0.7% | KR 1010|{F5k REX 69
76 | 100m | M65 13.9% 2| 0.7 | &Ik 623|)Il% E= 65
77| 100m | M70 13.6% 11 -0.7x [EFF 763| X8 HRE 72
78| 100m | M70 16.3% 2| -0.7% | = 1369|FH B H 70
79| 100m | M75 14.6% 1| -0.1% | EE#k 1023| K4 #{= 77
80| 100m | M80 17.5% 1|-01% | EF 845|HIF —= 81
81| 100m | w30 15.3% 1| -0.9% | =5 1531|#r#E BEX 34
82| 100m | W35 14.1% 1| -0.9% |#H= 3426/ FJt E*E 39
83| 100m | w40 15.1% 1] -0.9% | = 1478(ILH E& 43
84| 100m | w40 15.5% 2| -0.9% | =% 1530|BEFHFEUEH 43
85| 100m | w45 14.3% 1] -0.2% [t 4% 1082|XJIl &F 48
86 | 100m | W55 14.5% 1] -0.2x [#Z=)1] 1876| =18 EF 58
87| 100m | w55 16.0% 2| -0.2% [ 5 EDES 1165/ %X K 55
88| 100m | w60 16.6% 1| -0.2% | =5 1031 |FAHEEF 61
89| 100m | W60 16.6% 2| -0.2% | E A14[FHFOEKF| 63
90| 200m | M25 23.5% 1| -0.4% | 5Z=DES 1528|%t%F #XF 27
91 | 200m | M35 23.9% 1| -0.4% | =5 1233| 27 B8 1= 36
92 | 200m | M40 23.8% 1 -0.4% |[A<mE 1283;T/R &= 43
93| 200m | M40 26.2% 2| -0.4% | =% 1268| =3 %z 42
94 | 200m | M45 24 6% 1] -0.4% [E B} 454|hIE FH— 47
95 | 200m | M45 26.3% 2| -0.4x |FHE 909|HEAR 47
96 | 200m | M45 27.5% 3| -04x[15E 826|AXK [ 46
97 | 200m | M45 29.9% 4| -0.4x | EF 823|/NHT 4 T 4t 49
98| 200m | M50 25.8% 1] -1.6% | E® 826| LWl = 53
99 | 200m | M50 26.3% 2| -1.6% |55 726| EE B2 50
100 200m | M50 26.5% 3| -1.6%|EEF 691 [{£% &= 51
101 200m | M55 25.9% 1] -0.2% | E B 623|HP = 55
102 200m | M55 26.1% 2[ -0.2% | SvEDES 440|2F &) 59
103| 200m | M60 28.8% 1 -0.2% [#R 4% 263|HHE f#A 64
104 200m | M65 28.9% 1| -1.8% |Z 5 623|J1I% E= 65
105] 200m | M65 29.2% 2| -1.8% | KER 1010|175 BEX 69
106 200m | M70 36.2% 1| -1.8%|5Z=DES IB|ImAR RE 70
107 200m | M75 32.1% 1| -1.8% |EE#K 1023| K%t &/ 77
108] 200m | M75 37.1% 2| 18 [1BE 1025|H HEX 78
109 200m | w45 30.4% 1] -2.4% |#R & 1082|KJIl &EF 48
110 200m | w45 37.7% 2| —2.4% | 5vEDES 161 | RFHKF 49
111 200m | W55 30.5% 1] —2.4% | #Z= )0 1876|248 IEF 58
112] 400m | M25 53.9% 1 AH 1461(2 1EXER 29
113 400m | M25 58.9% 2 mAR 65457 £ =E&h 27
114 400m | M45 1:03.4% 1 fE 209|HE A ZEH 47
115 400m | M50 1:04.6% 1 BHA 697(#% =5 54
116 400m | M60 1:04.8% 1 E 2338|KFH FIX 63
117 400m | M60 1:06.9% 2 = [ 1253|#F1H# EIE 64
118 400m | M65 1:18.7% 1 =% 202(|X%Z FE 69
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119] 400m | M75 1:11.0% 1 % it 289| & FH FHmR 75
120] 400m | w40 1:10.9% 1 EJIAC 1306|JFE7 IFF 43
121 400m | w40 1:13.7% 2 = [ 1478|lLA =& 43
122 400m | w55 1:25.1% 1 rEEIN 1876|248 EF 58
123| 800m | M45 2:23.5% 1 RE 1001|XJII BER 49
124 800m | M50 2:27.4% 1 BH 697|#% =5 54
125] 800m | M50 2:41.5% 2 & 1013[ix# Hih 50
126] 800m |M50 2:49.2% 3 FEIG 877|/M 4k FIBA 53
127] 800m |M60 2:39.9% 1 s 619|IFH EF— 64
128] 800m [w40 2:38.0% 1 = [ 868|[{EIRAXF 42 | B354
129] 800m [W55 2:56.6% 1 F— L& 992|AERELR 55
130 1500m [M30 4:53.2% 1 TEAM-K 1259| B [" FfE 34
131 1500m |M50 4:51.5% 1 BH 697|#% =5 54
132 1500m |M50 5:05.7% 2 #E) 1756 | #1 H %2 AER 52
133] 1500m |M50 5:18.6% 3 FEIG 1221k —1th 50
134 1500m |M50 5:28.7% 4 FEIG 877|/M 4k FIBA 53
135| 1500m |M55 5:12.6% 1 R [ 1033|134 Z&HE 57
136 1500m |M60 5:08.1% 1 BH 416/ BB 61
137] 1500m |[M60 5:20.0% 2 s 619[1FH E:— 64
138] 1500m [M65 6:05.8% 1 = 1270(#8F & 69
139 1500m |M75 6:41.1% 1 FEiE 126|545 #Hi= 76
140| 1500m |M80 6:29.4% 1 FIREAC 80|k Al 81
141| 3000m |M30 10:07.1% 1 #EJIIAC 1482|#fH E— 31
142| 3000m |M30 10:56.6% 2 TEAM-K 1259| B[R FiE 34
143| 3000m [M40 9:15.8% 1 BHE 1202|h 4T XXE 40
144| 3000m [M40 10:25.9% 2 FRIEAC 1215|##) FOE 43
145| 3000m [M45 11:51.6% 1 SEDES 932|[F  FBE 46
146| 3000m |[M50 11:37.3% 1 H=— t?ﬂq 51 |A—T>
147 3000m |M55 13:21.1% 1 I 650| /R H 59
148 3000m [M60 11:08.9% 1 Al 416|H Eﬁ 61
149| 3000m |M60 11:43.1% 2 5 627|ith& i 60
150 3000m [M60 12:08.5% 3 F— L& 200|FBR ek 64
151 3000m |M60 12:43.0% 4 ACELL 1479 EH ER 60
152 3000m |M60 12:44.7% 5 FEIG 1447| KRR —R 62
153| 3000m |M60 13:22.3% 6 F— L& 1454(/hek R 64
154| 3000m |[M65 13:10.0% 1 F— L& 377|EB EX 65
155| 3000m [M65 13:11.5% 2 F— L& 1254|BTA &5 65
156| 3000m |[M65 15:48.7% 3 AIE R 1317|8/3F %X 67
157| 3000m [M75 16:10.2% 1 FEIG 126|3k%E7 = 76
158| 3000m |[M75 16:30.0% 2 AIE R 138(BA0 %48 75
159| 3000m |M80 14:58.6% 1 FRAEAC 80|1kEiE Al 81
160| 5000m [M45 | 22:02.00% 1 ks 1001|XJIl BER 49
161| 5000m |M50 | 18:52.30% 1 FEEIT 1756 | %1 A& AEB 52
162 5000m [M50 | 20:19.58% 2 FEE 1221|Kk —1 56
163| 5000m [M60 | 19:55.94% 1 s 619[iFH FE— 64
164| 5000m [M65 | 27:03.75% 1 BHE 1464|9%  #& 66
165| 5000m |[W40 | 19:14.39% 1 = 868|1EIRARXF 42
166| ESBE [M25 1m60 1 AH 1461|2 1EXER 29
167 E=BE |M30 2m00 1 e 1492|118 F 1R55 31
168| EZBE |[M30 1m80 2 EFE 14007 F# K HKE 32
169| ZESBE |M40 1m40 1 ¥ 13|/ = 44
170| FESBE |M45 1m65 1 %E 965|755 M Eit 46
171 FESBE |M45 1m65 2 = 908| KAl R — 49
172| ESBE [M45 1m45 3 =457 866|& 21T 46
173| ESBE [M45 1m30 4 EH 484| & fi# 47
174 FEE=BE |M55 1m35 1 E 3112|IUF #a 56
175| ESBE |M60 1m45 1 ¥ 265|24A HE 62
176 | ESBE |M60 1m15 2 SEDES 338|/h&IR 15 60
177] ESBE |M60 1m10 3 BH 489 (PR HE— 62
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178| E&Bk [M75 1m20 1 A 289|ZH R 75
179| E&BE (W45 1m45 1 WA 493|hkt Fi#8 45
180| EZBE [W45 1m10 2 AEDES 761|BAKTFHRF | 49
181 FE=Bk [W55 1m20 1 SAEDES 1165| &% #4K 55
182| E=Bk |W60 1m00 1 = I 1031|FAAEEF 61
183 sEMEBE [M40 5m83 1[+0.8% |15 E 1067|7E8 B2 44
184 EMEEK [M40 5m56 2|+1.9% | B 713|558 = 44
185| FEMEBK [MA45 5m68 1[+0.8% [BE 965|75H Ei 46
186 | EMEBE [M45 5m23 2[-03% |[EFH 484 L& 2 47
187 FEMEBE |[M50 4m34 1+0.1% [#5K 212l kE = 54
188 EMEBE |[M55 5m48 1]-0.2% [#Z)1] 388|F K EAE 55
189| EMEEE [M55 5m02 2|+0.0% |EE 3112[lLF #a 56
190| EMEBE |[M55 4m29 3|+0.1% [;%&]IIAC 107700 Fl— 58
191 FEMEBK [M60 3m76 1|+02x% |&== 1264|1115 BE— 60
192 EMEBE |M60 2m66 2|+1.8% |SHZDES 338|/h 2R 15 60
193| FEMEBE [M65 4m19 1]+0.4% | S 202| A% HE 69
194| GEMEEE (W30 4m21 1]+2.4% | S 1531|445 = 34
195| EMEEE |[w40 3m66 1+1.1% [S % 1530 | BEFR VU &H 43
196 | FEMERE W45 4m60 1]+2.1% [#FK 493|H# Fiz 45
197| FEMERE W45 3m14 2[+1.4% |5ZFDES 761 |#i R FHRF 49
198| FEWEEE W50 3m82 1]+0.9% [IZFE 44| B 53
199 =EBk |M30 13m10 1[+2.0¢ [B= 1492|112 154 31
200 =ExBk [M40 12m38 1+1.1% |[BE 800|fBIS HE 41
201 | Z=ExEk |M40 11m82 2[+0.7x B E 1067|1E8 &2 44
202| Z=ExBk |M45 11m54 1+1.1 [IBE 96575 H E 46
203| Z=Exik |M45 11m28 2|+1.3% | = 908| AT B E— 49
204| =Exik |M45 9m74 3|+1.1% [R5 484 % 2 47
205| Z=ExBk |[M50 9m22 1[+1.7% [#K 212| kB = 54
206| =ExBk |M55 12m62 1]+0.1% [#Z ) 38| FAR HE 55
207| Z=ExBk |M55 10m17 2|+2.3% | 3112[ILF #a 56
208| =Ex#k [M60 10m15 1|+1.8 [EF 265 HA = 62
209| =Ex®k [M60 9m33 2|+0.8% |FH= 1264|1115 BB— 60
210| =E#k [M65 8m39 1[+1.5% [ZiE 202| X% ME 69
211 =E#k (w35 9m23 1[+2.0¢ [E= 3426| FoT &= 39
212| =Bk |wW45 9mO1 1]+2.6% [BE 357|Nik ZNE 49
213| =ExBk |W50 8m68 1]+2.6% [ E 41438 Ea 53
214| FaA#E |M45 12m22 1 TRk 1|2 Bl 45
215| fahix |M45 8m59 2 =) 1909| A1l F5E 48
216| fatix |M45 6m16 3 = 908| AT B E— 49
217| fatix M50 10m25 1 AR 538|= )1l BAT 54
218| fafLfx |M50 6m08 2 R 956|518 f2— 51
219| faihix |M55 11m23 1 Il 878//lld0 1§ 59
220 fafix |M55 7m66 2 3 3112|ILF &a 56
221| fahix |M55 7m16 3 A5 005Nl —7&F 55
222 faALix |M55 6m95 4 N 36|/ B2 59
223| fatix |[M60 9m94 1 = 271|=%# EH 62
224 fahix |M60 9m45 2 e 693| =i =% 62
225( fafix |Me60 Tm79 3 BH 489|fTER HEH— 62
226 fafix |Me5 9m76 1 =1 381|EH &% 69
227| Atz |M65 8m86 2 = [ 447\ H#HFOFA 66
228 | faALix |M65 7m85 3 RE 1487\ A& 67
229| faiix [M65 7m75 4 BE 397|48H %= 65
230| fahix |M65 6m20 5 E3 3159|F Il &% 67
231| A |M65 5m51 6 F— Ll 1457 At 65
232| faiix |M70 10m50 1 eIl 1281|=F BxX 71
233 fafix |M70 8m88 2 =& 1561360 B2 7
234| faik |M75 6m94 1 AH 132|A8 ER 75
235| faAtix |[M8o 5m73 1 FEdr] 1501|h# = 82
236 | fatix w40 7m16 1 3l 1656|#0E FOMK 43
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237 FaRix W40 6m51 2 ESR 1461 |5 FH IBF 44
238| mEAIZ |W4s 7m46 1 mAR 493 Ft Fia 45
239| maRk  [ws0 9m61 1 iBH 1025| THERPH 53
240| faAIE W50 7m23 2 A H 1251 |ERAEF 54
241 maRix |w5s5 8m06 1 = i 1252| & FH1=1+18 55
242 mAIZE  |W55 7m60 2 SEDES 1165/ 55
243| fatix |wWeo 7m96 1 A H 434 FER BE 61
244 M#EER |M25 25m34 1 AXH 1461(2 1EXER 29
245| HEE |M25 9m51 2 HAR 65487 L A 27
246 FM#Eix |M40 20m71 1 EH 73|/l = 44
247 HEI® |M45 28m22 1 R 717|=/@ HIA 45
248 HMHEEIKZ |M45 23m22 2 )| 1909|FJIl EH 48
249 H#ER [M45 17m34 3 = [ 908| Ksal R HE— 49
250 M [M50 30m74 1 mAR 538|=)Il AT 54
251 F#8% |M50 30m09 2 WA AV -4 52
252| A [M50 23m31 3 rEI 1390|#1R RFE 54
253 HM#E% [M50 19m91 4 E 5 956| =18 f2— 51
254 MR |M55 31m73 1 M) YCITT=DE ] 59
255| M8 |M55 26m13 2 BIE 9205\l —7%F 55
256 | M8 |M55 22m39 3 KR 436|/Mik & 59
257 H#21%  |M60 31m48 1 = i 211 |=4% IEBH 62
258 | M2 |M60 27m93 2 = U5 710|448 [ 62
259 HM#E’ [M60 24m22 3 EE 693| B FEX 62
260 M#21% |M60 22m62 4 N 409[1EE B— 64
261 M#21%  |M60 18m89 5 BH 489|fIER HE— 62
262| H#EIR |M60 18m15 6 SEDES 338[/hMER 15 60
263| HM#&KZ |M65 29m52 1 = 15 381|EMA FiFE 69
264| MBI |M65 27m02 2 RE 1487(F1% BB 67
265| M#E%  |M65 23m23 3 BE 397|feH =T 65
266 FMHER |M65 16m93 4 HR 3159|F )l & 67
267 MK |M65 15m84 5 B E 651|ER % 65
268| FM#EE |M70 30m28 1 HZE) 1281|=F Bk 71
269 | M |M70 20m43 2 = i 24|58 BIE 73
270 M |M70 19m32 3 = U5 156135k M2 71
271 H#® |M75 21m64 1 KR 134|758k Ih 75
272 MR W40 26m73 1 = i 1182|1EZHEE 41
273 MR w40 19m70 2 M=) 1656 |¥AE  FO4K 43
274 MR W40 15m87 3 E 1461|BH IEF 44
275 HM#¥% |W55 18m16 1 = i 1252(&FH - 1+1K 55
276 | HM#¥% |W55 17m36 2 = i 527|hFttbE X 57
277 H#EER W60 20m47 1 AXH 434/ 5K BHE 61
278 | /\><—1%[M45 25m69 1 EH 484| & {2 47
279 [/ \o<w—31%|M45 19m46 2 BT 1909|F)Il EH 48
280 | /\><w—4#%|M50 37m53 1 %HE 102|HBMH 54
281 | /\><w—1%|M50 23m43 2 mAR A52{E R Rz 52
282 | 1\ —41%|M50 15m19 3 B 956| =48 fi2— 51
283 | /"> —1% M55 35m87 1 FEET YCTT=DE ] 59
284 | /"> <—1% M55 21m43 2 BIFE 905|%)Il — 7= 55
285 | /"> v—1|M60 34m40 1 BE 693|ElF =X 62
286 | /\>v—1|M60 27m45 2 KR 409(18E = 64
287 [/\><w—31%|M65 14m17 1 BE 397|feH T 65
288 /\>w—#%[M70 32m15 1 FEET 1281|=F BBXx 71
289 | /\>w—1|M70 19m18 2 = 24|58 BIE 73
290 [ /\> < —3%[M75 25m90 1 KR 134|F#k  Ih 75
201 [/ \o<=—4%|W40 18m55 1 BN 1461|AFH IBF 44
292 | /\<w—# W40 12m55 2 EI 1656 FOit 43
293 | /\><w—3% (W60 18mb55 1 AH 434|BK BHA 61
294 DOUE |M24. 37m87 1 = il 1486| BB ERE 20
295| ®YUE [M25 7m35 1 mAR 654|% F =5l 27
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296 ™YE [M30 43m48 1 EE 1400;F K KE 32

297 Y M35 47m99 1 £ 905|fRik X 37

298| Y M40 42m96 1 5 713|57EE = 44

200| ®YE (M40 41m21 2 BE 1432|171 Ft 41

300 XOUHE M40 33m54 3 BE 800|1BIE t 7= 41

301 Y [M45 28m04 1 = [ 908| Kal R HE— 49

302 HYHE [Mm45 23m85 2 B 1909|AJIl EH 48

303| OYUHE M50 36m49 1 rEII 1390|#1R RFE 54

304 OYUHE M50 30m31 2 E 5 956| =18 f2— 51

305 +OYUE  [M55 32mi4 1 N 436|/h kB 59

306 ®YIK [M55 19m33 2 BiAE 905|7l — 55 55

307 OYUHE |M60 26m06 1 = U5 710|448 [F 62

308 YK [M60 16m50 2 KR 409|1BE = 64

309 Y [M65 25m38 1 R 3159(F )l & 67

310 Y’ |M65 16m74 2 F— L 1456;E 5 15 65

311 ™Y [M65 16m34 3 BE 397|f8H =T 65

312 DYHE |M70 32m98 1 rEII 1281|=F HEx 71

313 d™YF |M70 27m62 2 = U5 1561|0fk #W2Z 71

314 DPYE |M75 19m44 1 AH 12|68 EX 75

315| ®YEk |M80 13m39 1 A& E 1501 |h#t B= 82

316 | ™YK w40 21m67 1 #E) 1656|#3E FOi 43

317 D™YEF w40 16m99 2 B 1461|BFH IEF 44

318| WYUKk |wi4s 24m18 1 BE 357|NfE nE 49

319 ™YFE |w4ab 23m07 2 mAR 493 Ft Fia 45

320 Y (w50 15m28 1 BE 414|358  BR 53

321 ™Y |Wb5 23m14 1 = [if] 527|hfttk B % 57

No. [EdE hAx | EeEx | RSB RE | FiE K% (5 #5)
552514 x 100mR | M45 51.2% 1 E5 T ERR47), RIBE— (47) . LR Eth(46). LHIE(52)
452814 x 100mR |\W50 1:06.8% 1 B H HBIRTFETG2), FTREPH(53), BEARALET(54). EEVHH(55)




